Makebiz:ck

Construct Your Dreams

Makeblock Co., Ltd.
Technical Support: tec-support@makeblock.com
www.makeblock.com

lo
'i : @Makeblock g : @Makeblock : +Makeblock

D1.2.1-7.40.4100



Makehisxck

Construct Your Dreams

mBot

ONE ROBOT PER CHILD

The pictures are for reference only, please make the object as standard.






cOntents Children should be accompanied by adults.

mBot is an educational robot for beginners to learn STEM (Science, Technology, Engineering, Mathematics) and experience the charms
of mechanics, electronics, control systems and computer science.

Parts List mCore Layout Assembly Wiring
Instructions Instructions



Warning: This product contains small parts and is intended for children at least 8 years old.

looly tino 106

Ale Edit Skei Tools Help

firmware

VFile Hane Wbot_Firmware. ino
* huthor Ander.
* Updated Ander
¥ Version Vi 2ni0t
ate 12282014
scription Firmeare for Nakeblock Electy

nse CC-Br-SA 3.0
fowieht (©) 2013 - 2014 Maker Horks Technology O
http:ffuwn. naksblock ce

Tude

Get Started Playing Graphical Wireless Arduino Programming
Programming Communication (C Language)



USB Cable

mCore Case

.
9]
=
<
°
2
9]
4
"3
v

M4x8mm Screw

AA Battery Holder

(This kit does not include AA batteries.)

Velcro sticker pad

=
=
2
3
=
S
28
o
=

M4 x25mm Brass Stud

M3 Nut

M3x25mm Screw

Me Ultrasonic

Sensor

€
£
=)
%
N
o
=

Mini Wheel

Wheel

Me Line-follower Sensor

M4x8mm Screw

M4x8mm Screw

Lithium Battery Holder



mCore Layout

AA Battery Holder Interface —— 3.7V Lithium Battery Interface

OFEU

Reset

USB Connector

—— Power Switch

@©
B
-

Motor Interface

) o
o o
RJ25 Port b o RJ25 Port
) o
° mCore °
AN Y,
RGB LED S G RGB LED
@ % & o
Buzzer Button
IR Receiver Light Sensor

IR Transmitter



Assembly Instructions

Chassis x1 Motor ( Left) x1
Motor ( Right ) — M3 Nut
M3 Nut .

M3x25mm Screw



M4x8mm Screw x2
Mini Wheel x1
Me Line-follower Sensor x1

M4x8mm Screw x2
Me Ultrasonic Sensor  x1

Tips: x4

After assembly, make
sure to take out all the
wires through here.



x1
%

are well inserted, otherwise the chi

Bluetooth/2.4G Module
may be damaged upon power-on

Please check carefully if the pins
of the Bluetooth or 2.4G Module

[V
)
©
(8]
v o
Lo
S o
(SN}
£ E



POWE red by Lith i u m Battery(we provide two alternative power supply methods, Lithium battery or AA battery.)

Tips: 3.7V Lithium Battery (Not included)
If you use AA battery holder,

please skip step 13, 14, 15,] :
and 16. :

_
Lo



POWE I"Ed by AA Battery(we provide two alternative power supply methods, Lithium battery or AA battery.)

AA Bettery Holder  x1
Velcro sticker pad

M4x8mm Screw x4

Please wire the electronic modules after assembly. :



